H]J st

I STREM &0
HJ D-50 M 15 F-FA-Y-G51R 2
| O =5

@ mEEIE e

5

CliE =

HJ { HJE %
EAE L gyaRaRE |

HJD QE: j@
LhAy L

@ HEIIAE
O mrEssE

M: BNNEA / N: SEA
@ 772 (sT)
O @i

F-AF /E:SNF

@ E=5=

T
SD § E@

© wizmm

(SR - B - WEERIR)

— @ mEmrEsE

B-28



= HINAKA

T BB EE AR IS B RA B

HJ mapemEa)

PUEBAEHE  (BA)
DOOOOOE

0

15B

5H

III

J

(G35 2o ME (637 TaTE ME
1 BfE s 8 EER S45C
2 URR PU 9 EATR L T SCM435
3 EpE BRARN 10 CIES AAGO61
4 HE STM13 11 SNBE AABO63
5 NF@ NBR 12 EER AABOG1
6 oM NBR 13 wE AAGO61
7 £ PU 14 V=L $5400

B A R -

ELTE (mm) $32, $40, $50, $63, $80, $100

RIZHETIZ 5,10, 15, 20, 25, 30, 35, 40, 45, 50 (L EATIERE)

T1EBAH 5.0MPa (50 kgflcm’)

AE A 7.0MPa (70 keflcm®)

RIEERBA 0.3MPa (3.06 kgflcm’)

fEREEEE 8300 mm/s

ERREEE -10°C~+80°C

B EEDH — MR IE(EEDR (1SO Ved?2) H




HJ mssmczm)

PUEBAEHS ¢ (EAR)
® @EOEEeE

—

i

%x% J,

NN
D
7

@@E F%u |

S .

TR

(G377 2B ME (6377 TaiE ME
1 NAEEEBE SCM435 10 AVl SCM435
2 fid s 11 iR AG063
3 UL PU 12 EER $45C
4 BIRHE BRALN 13 i S45C
5 2HEE GENCE 2 14 iRt SCM435
6 k=] STM13 15 AIZ AAGO61
7 NFE NBR 16 SMBE AAG063
8 OZE NBR 17 R AABOG1
9 e PU 18 wE AABOG1




B EERRMmARAE

H Z HINARA

¥ RhER ER

BUSE - HJ A5 : HI.M
BEARE B R

= I—

15B

HJ(Z -8R 5 2-F)

- 2-P
G G
T —«i——wﬂ \——«i——wﬂ
7~ == ==
@ 0
2 o - 38 BV
f
\
fan i) RFHxFFRC
©o AR CN
oM 4-BEEITE L1
OE B lERE] L B+ST
HJ(ER-FMEFE-E)
- EEFLHIECEN AEREEE
INFKKx FEC1 8-0 8-gD2xRx8-gN
T T~ —F
N
O I
C1
X
L3 \“ R
ST=17%#8 EfI : mm
e B oD |gD1|cE| F | G HxC | J|K|L |L1T|oM P w KK C1| X | L3 |gD2xRxgN o

Fikd HAR | RipER
@32 | 29 36 |16 |26 | 51 |20 | 7.5 |M8x1.25x12| 65 [3.5|14|8.5[2.5| 34 | PT1/8 |54.5|M14x15| 20 |215] 30 | 9x52x5.1 | M6x1.0
240 | 35535516 (28 | 59 | 20 | 10 |M8x1.25%x13| 76 | 3.5|14 | 8.5[2.5| 40 | PT1/8 |62.5| M14x15| 20 |21.5] 30 | 9x52x5.1 | M6x1.0
@50 |38.5(38.5(20 |32 |70 |22|11.5|M10x1.5x15| 91 [4.5| 17 |9.5(2.5| 50 | PT1/4 |74.5|M18x15 | 23 [255| 35 | 11x6.5%6.7 | M8x1.25
263 | 44 44 | 20|32 | 83 |21.5) 12 [IM10x1.5x18{108|4.5| 17 |9.5|2.5| 60 | PT1/4 |87.5| M18x1.5| 23 [25.5| 35 [13.5x8.5%8.5| M10x1.5
@80 |53.5|53.5(25|36 (102|226 | 14 |M16x2.0x21{133[6.5|22 | 13 | 3 | 77 | PT3/8 |108.5| M22x1.5 | 30 [31.5|44.5[18x11x10.25|M12x1.75
@100 | 63 63 [ 25|38 [122| 26 | 15 [M16x2.0x21(161|6.5|22 | 13 | 3 | 94 | PT3/8 [128.5{ M22x1.5 | 30 |31.5|44.5[20x11x10.25|M12x1.75

H
B
i




HJD

FFREERER

Aig® - HID

Ly

HH

HJD (£ &- iz 5 2U-F)

;_—:Flg’?/u : HID..M
6 W [ B M FRR PE B

H+

oD1
oD

AFHxZ%C |

HJD (¥ &ii- 512 5 BU-E)

M14xP1.5

4-BEEATIE L1
ESEEER L B1+ST L2+ST
EEFLHIECEN ABREEE]
8-0 8-gD2xRx8-gN

e —
N{ % ,,,,,, R o N~
[m] <| ©
S |

ST=171%
B : mm
gk B1
A BT | FER
@32 [36.5|43.5
@40 | 45 45
@50 [49.5|495
@63 | 56 56
280 | 66 66
@100 | 76.5 | 76.5

XEMR TS EEAR

=
4.2
6




HEEERPA

A5 - HIE A5 - HIE.M
EmTREYRR LT IR R M A R

e

15B

5H

HJE(Z #5172 AT EREY)

L B1+ST

==

ST=17%8 EfI : mm

e B1
e O\ EAR | EER
@32 |36.5|435| 27 | 11 | 24 | 38 |23.5| 14 | 10
@40 | 45 45 | 27 | 11 | 24 | 38 [23.5| 14 | 10
@50 |49.5|49.5| 31 | 14 | 27 | 42 |28.5| 17 | 10
@63 | 56 56 | 31 | 14 | 27 | 42 |28.5| 17 | 10
@80 | 66 66 | 37 |16 | 32 | 49 | 36 | 24 | 10
@100 | 76.5|76.5| 37 | 16 | 32 | 49 | 36 | 26 | 10

XEMR IS EERE

2GX| Y |MA [gMI| MX | T | MK

H
B
i




Hl =

xE B {4

FA/FBEY AEZMREEL HICEEL)  ar 100 (vgasgss)
#IRERIREEE HJ.M(EEL)
FA FB
| | | |
| | | |
> J@ | e e s [
[N
FT
FX 4-oFD | ¢ | B+ST | B+ST FT
I T T T
Fz | A+ST | | A+ST |
I 1
ST=17%#2 Bl : mm
i — B __le| N |ofo|FT|Fv|Fx|Fz| R
R O\ B4R | REE | B4R | RER
032 |455 | 52.5| 20 | 36 |16.5 M6x10 6.6 | 8 | 51| 62 | 74 | 34
240 | 52 | 52 | 355 |355]16.5| M6x10 |66 | 8 | 59 | 72 | 84 | 40
950 | 57 | 57 |38.5|38.5(18.5 M8x125 66| 9 | 70 | 82 | 95 | 50
063 |625 | 62.5| 44 | 44 [18.5 Mi0x15| 9 | 9 | 83| 98 |110] 60
980 | 775 | 77.5| 535 | 53.5| 24 [M12x175| 11 | 11 |102] 120|138 78
2100 | 87.5 | 875|635 | 63.5| 24 |W2x175| 11 | 11 |122] 140158 94
LABY MEWRERE EsD) o | 78l URASKERD WEAY) o
(RFFHNFEIET) HI. . M(BLFERY) (RFEFRIEE) HI..M(ELFEERY)
XA+ST
— — s 8 — —
| _r =] -
| F®enme®d— | |[LL_|E g
SA+ST ZF+ST |
1
ST=17#& Efi : mm
%w|  SA XA ZF
0AB| AH | AO | AT | EO |oFB|MF | M | TF | TR |UF/US
ae \ |22 gmn | 220 [ gRn | 240 [ aED
032 | 41 | 48 | 435505 |49.5|56.5|55| 26 | 6 |18 | 52 |55 12 | 34 | 62 | 52| 74
040 | 485 505 57 |55]30 65|20 |60|55]| 1340|7058 82
050 | 515 545 61 |65|37 65|20 |73 |65| 13|50 |83 |70 98
263 | 60 615 695 |9 |42| 8 |24 |84 |9 | 1660|9982 114
080 | 695 745 825 |9 |51|8 |24 |102] 9 |16 |77 |119]100| 134
2100| 81 85 94 | 11|61 9 |28 [122] 11 | 18| 94 |140|122] 158




H

5| %€ B {4

= HINAKA

T BB EE§ AR IS BRA B

CA/CBZE!

BILiREE HIEXR)
g ||| IEENEY HI. M(RLEERY)

B+ST

CL+ST

A+ST

H10

2CD

@32~100 (AF=0shF B9 )

CA CB
4-N 4-N cz03
T o —

® @ @ @

= S s AT = N = sy MO N =

=t i =5 B =

© \© o %
a78 i | N
,
0 +0.3
CX.04 CX+0:2
oE nE

ST=17#2 EfiII : mm

f__A CL__sco| culcw|cx | cz | RR
SN EESET I B ET 0
232 |67.5|745|57.5|645|10 | 15 |20 | 18 | 36 | 10
240 | 76 | 76 | 66 | 66 | 10 | 16 |22 | 18 | 36 | 10
250 | 90 | 90 | 76 | 76 | 14 | 22 |28 | 22 | 44 | 14
263 |97.5|97.5 835|835 14 | 23 | 30 | 22 | 44 | 14
280 |122.5(122.5/104.5(104.5 18 | 28 | 38 | 28 | 56 | 18
2100 | 143 | 143 | 121 | 121 | 22 | 33 | 45 | 28 | 56 | 22
TIEY BIRREEEE HIEXR)
== . 32~100 (RF s F A T]
HI M(RERY) 2 ( B38)
2N
s s 40 )
- . “’E
A SN 5|
Y / { 2]
——18k 1O——X & | 8-
)
/ ¢
L B+ST TP
T
\ TL+ST ™ M M4 ™
I
\ A+ST
I
ST=17%#& EfI : mm
fae A TL  |zTD|T™
_ ‘ IN| TP |oTs| |
am \ | BAR | gRE | EAR [EER | e | o
232 |53.37(60.37(45.43(65.43| 12 | 67 | 12 | 48.07 |15.87| 655
240 | 63 | 63 |535|535| 16 |78 | 16 | 5666 | 19 | 756
@50 | 67 | 67 |57.5|57.5|16 |93 |16 | 70.7 | 19 | 90.7
263 | 755 | 755|645 | 64.5| 20 |110| 20 | 84.84 | 22 |107.9 -
280 [91.9(91.9(79.2(79.2| 20 [135]| 20 [108.87| 25.4 | 134.3 E_z
2100 [101.5[101.4| 88.7 | 88.7 | 25 |163| 25 | 132.9 | 25.4 | 160.9 EE
E2)|




HJ szemme

| BYIEEE 032~100

RR1 MM
|
\
) {
1 1
NX ‘ U1 ‘
‘ L1
A |
B : mm
1RaR
A A1 E1 L1 MM RR1| U1 |oND | NX

i1k
@32 | 42 14 | 22 30 | M14x1.5 | 12 14 10 18
@40 | 42 14 | 22 30 | M14x1.5 | 12 14 10 18
@50 | 56 18 | 28 40 | M18x15 | 16 | 20 14 | 22
@63 | 56 18 | 28 40 | M18x1.5 | 16 | 20 14 | 22
@80 | 71 21 38 50 | M22x1.5 | 21 27 18 | 28
2100 | 71 21 38 50 | M22x1.5 | 21 27 22 28

YHYJEBE 032~100

oNDEFL™ MM

| L |
[ ‘
| J
NX
NZ
BEfII : mm
5k
i1 A A1 | gE1 | L1 MM RR1| U1 |ogND | NX | NZ L
&

@32 | 42 | 145| 22 30 | M14x1.5 | 12 14 10 18 36 | 41.6
240 | 42 14 | 22 30 | M14x1.5 | 12 14 10 18 36 | 41.6
@50 | 56 | 18.5| 28 40 | M18x1.5 | 16 20 14 22 44 | 50.6
263 | 56 18 | 28 40 | M18x1.5 | 16 20 14 22 44 | 50.6
280 | 71 21 38 50 | M22x1.5 | 21 27 18 28 56 64
2100 | 71 21 38 50 | M22x1.5 | 21 27 22 28 56 64




